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1. cotzew%:

A. cosec?0 -1

B. cosec?6 +1
C. 1-cosec?8
D

. TH DI TR
Answer- A
2.?11%3(1 =90°?ﬁsinu$l1=|17-[ﬁ1'l'l':

A. 113
B. V3/4
C. 1/2
D. V3/2
Answer- C

3. cos 60° cos 30°- sin 60° sin 30°

A.

O N =

B.
C.
D. 1

Answer- A

4. sec 11°/cosec 79° Bl HIH ﬁTIT:



oo Wy
N O© =

-1
Answer- A
5. (cosecH -cotd )2 =?

A. (1 + cosB)/(1-cosB)

B. (1-cosB)/(1+cosB)

C. (1+sinB)/(1-sinB)

D. sinB.cosB
Answer- B

6. gl tand = 4/3 A9 (sin 8+cos 0)=?

A 7/3
B. 7/4
C. 7/5
D. 5/7

Answer-C
7.cos 48° - sin42°=7?

A.

N O =

B.
C.
D. -1

Answer- B

8. cosec? 57°-tan233°=?

A0

B.
C. -1
D

Answer-C
9. V(1+tan®A)=? (0 <A<90°)

A. cotA
B. secA
C. cosA
D. sinA



Answer- B

MCQ questions for Class 10 Maths with Answers PDF in hindi Medium
10. sec? 10° - cot? 80° W'FI'F-I% :

1
0
3/2
1/2

oCow>»

Answer- A

11. gfe tan 6 = V3, 9 sec 0 BIT ;

23
\3/2
1/2
2

Cow>»

Answer-D
12. Ilﬁ cosecB = 17/8 dl tan 6 =

8/17
8/15
15/8
15/17

oCow>»

Answer- B
13.9fS4tan 0 =4 A O BFTHMA T

A 0°
B. 30°
C. 45°
D. 60°

Answer-C

14. 91 2 cos30 = 1, Al 0 RTR &:
A. 10°

B. 30°

C. 15°

D. 20°

Answer-D

15. 9fg @ = 30°, A 2 cos 26 BT HIH TIIT :



1
2

V3
\2

oCow>»

Answer- A
16. TS tand =12/5 T sin 6 BT HIF BN :

A. 5/12
B. 12/13
C. 513
D. 12/5
Answer- B

17. cot 60° T AT I

A. 3
B. 13
C. 1

D. 0
Answer- B

18. sin 59°/cos 31° BT A gl

A. O
B. -1

C. 1

D. ITH A PIS Tal
Answer-C

19. 9 @ = 60°, Al sin 0 + cos 8 BT A NI -

A. (V3+1)/2

B. 2

C. 1

D. 0 Y 1 el

Answer- A

Class 10 Maths Chapter-8 MCQ in Hindi
20. sec (90° - A ) fPTP WTaR 8 2

A. cosec A
B. tan A
C. cotA



D. sinA
Answer- A
21.9f¢2sinPA-1=0NADBTHAAES :
A. 45°
B. 30°
C. 60°
D. 90°
Answer- A

22. sin?45° - cos?45° BT A &

A.

2 N O =~

B.
C.
D. V2

Answer- B

23. gfe 2sin20 = V3, df 6 R &

30°
45°
0°

90°

Cow>

Answer- A
24. gfe sec = 25/7, Al tan@ BTA & ?

7124
7/25
25/7
2477

Cow>

Answer- D
25. sin (45°+0) - cos (45°-0) =7

A. 2sinB
B. 2cos6
C. 0

D. 1
Answer-C

26. tan 30° . sin 30° . cot 60° cosec 30° =



1/2
1/3
1/4
1

oCow>»

Answer- B

27.4fe A 3R B €I TR YASIUI 81 fP sin A = cos B, 9 (A+B) = ?

45°
60°
90°
30°

Cow>

Answer-C

28. 9fe 3 cos0 = 2 B, AT (2 see? 8 + 2 tan?0 - 7) BT A NI

Cow>
2w O

Answer- A
29.secf="7?

A. cosB/sinB
B. 1/cosB
C. 1/sinB
D. sinB/cosb

Answer- B

Trigonometry Objective questions for class 10
Maths
30. Tfe sine = V2 cosed T sec 8 HT HIF &:
A. 113
B. 3
C. 32
D. 2K3
Answer- B

31.[2 (1-sin? A) ]/ (cos? A)

A1



-2
2
0

OOow

Answer-C
32. gfd A = 35° a1 sin A x cosec A BT HIH BRI :

0
-1
1

2

Cow>

Answer-C

33.9tan’a -9 sec?a=

Cow2>»
o

Answer- B
34. (sec 6+tan 0 ) (1-sin 6) =

A. sinB
B. cosec®H
C. cosb6
D. sec6

Answer-C
35. tan /2 BT {1 R :

A. 0
B. 3
C. 13
D

Answer-D
36. 1/V3 RTR &

tan 60°
cos 45°
sin 30°
tan 30°

oCow>»



Answer-D

37. sec? 6-1 BT HIH %:
A. cosec?6
B. sin%?0
C. tan?@
D. cot?0

Answer-C

38. AABC U® JH®IU YT § FoRIH £C=90° 8 @ cos(A+B) FTH B :

A. O
B. 1

C. 12
D. 3/2
Answer- A

39.2cos260° PIHME :

A 13
B. 1/4
C. 1

D. 1/2

Answer-D

MCQ questions for Class 10 maths Chapter-8 with answers in Hindi

40. sin63°/cos27°=

2_

3

oW
WN =

Answer- B
41. Tlﬁtan 0= 8/15 ﬁ?‘ﬁ cosec 0 ETIII'F-[%:

17/8
8/17
15/17
17/15

Cow>»

Answer- A

42. sec? 0 - tan? @ T HIH BIT:



1
-1
0

. B

Answer- A

ocowp»

43. TP (1 - cos*0) PTHM §:

cos? 9( 1 - cos?0)
sin?8( 1 + cos?0)
sin?8( 1 - cos? 0)
sin?8( 1 + sin?0)

Cow>

Answer- B

44. fFgfafEd § 9 &4 tan A P R 872

V(1 + sec? A)
V(sec2 A - 1)
V(1 - sec? A)
V(cosec? A - 1)

oCow>»

Answer- B
45. sin O RTER & -

A. 1+tan®6
B. 1/cosec®
C. 1/cos B
D. sec?6-1

Answer- B
46. sin(90° - 0)=

A. sinB
B. -sin®
C. cosb6
D. -cos®©

Answer-C
47. ?Tfa sec 6=13/12 33[, @ cot 6 TR %:

5/12
5/13
12/5
13/5

oCow>»



Answer-C
48. (1 - cos? 8) (1 + cot? 6) TR &:

0
1
172
1

Cow>»

Answer-D
49. 9fe cosec 8=10 Bl, Al sec 0 = ?

A. 3110
B. V10/3
C. 1710
D. 2110

Answer- B

NCERT Class 10 Maths Chapter-8 Trigonometry
MCQ with Answer in Hindi
50. sin A= 8/17 g, df Cot A HT HIH §NII:

A. 8/15
B. 17/15
C. 15/8
D. 8/17

Answer-C

51.sec?45°-2 =

1
0
4
1

oCow>»

/2
Answer-B
52, gf¢ 8 =90° gl dl sin @ -cos 6 =

A0
B. 1
C. -1
D. 12

Answer-B



53. tan 1°. tan 2°. tan 3°..... tan 89° =

A. O
B.
C. 12
D
Answer- B
54.cos Axtan A=
A 1
B. sinA
C. 0
D. cos A
Answer- B

55. tan 50°+ cot 40° =

A 1
B. cot40°
C. tan50°
D. 2tan50°
Answer-D

56. 4f¢ 0° <8< 90° AUTsinO=y T cos O PTHM & :

A 1-y?

B. 1+y?

C. J(1-y?)

D. V(1+y?)
Answer-C
57.2c0s37° / sin53° =

A. 0

B.

C. 1

D

Answer-D

58. fAaferfad A ®19-9T sec 60° F RTER @ ?
A. cosec 30°

B. cosec 60°
C. cot30°



D. tan 60°
Answer- A
59. cosec 8 =bl/a, dl sec® BT A % :
A. b/(b* a?)
B. V(b>-a?)/b
C. a/"(b>a?)
D. b/a

Answer- A

Class 10 Math Chapter-8 mcq in Hindi
60. tan49°/cot41°=

A

D=~ N W

B.
C.
D

Answer-C

61.sec260° -1 PTHMTE :

A

O~ WNDN

B.
C.
D
Answer- B

62. e sin 8 = cos 0, Tl 8 T A BRI

A. 0°
B. 30°
C. 60°
D. 45°
Answer-D

63. Tfe sin 8=1/2 B, dY @ T A ITI:

60°
45°
90°
30°

oo w>

Answer-D



64. (2tan 30°)/(1+tan? 30°)=

A. sin 60°
B. cos 60°
C. tan60°
D. sin 30°

Answer- A
65. (1 - tan? 45° )/(1 + tan? 45°)=

A. tan90°
B. 1
C. sin45°
D. 0

Answer-D
66. sin50°/cos40° BT A R :

A

O - N

B.
C.
D
Answer-B

67. af¢ V3 tan = 3sin®, 99 sin?0 - cos?0 BT AT RIS @ :

\3
2/3
1/3
13

oCow>»

Answer-C
68. 9f¢ sec A = cosec B = 13/12 A9 (A+B ) ST A &:

zero
> 90°
90°

<90°

oow>

Answer-C
69. afe fHf YT ABC W LA TUT B RFH B, A cot CHTUM S :

A. 13
B. 0
C. 1



D. V3

Answer- B

trigonometry objective questions for class 10 Maths
Chapter-8

70.Tfe tan(a+p)=V3 3R tana=1/\3 T9 tanp =

1/6
117
13
716

oCow>»

Answer-C
71. ‘Clﬁ' 7 sin?0@ +3 cos?0 = 4 dd sec +cosech dRTaR %:

A. (2W3)-2
B. 2/\3+2
C. 23
D. V3/2
Answer-B

72.9f& 5 cotd = 3 dF (5sinB-3cos0)/(4sinB+3cosB) dARTAR %:-

A 1118
B. 16/29
C. 14727
D. 11/29

Answer- B
73.Tlﬁsinx°=sin0( ?ﬁa%:

180/
/270
270/t
/180

oCow>»

Answer-D
74. tan15° . tan 20° . tan 70° . tan 75° T HI< BT :
-1

A
B.
C.
D

- ON



Answer-D
75.sin 30° PTHT @ :

A 1
B. 1/2
C. 3

D. V3/2
Answer- B

76. (tan? 36°)/(cot?54°) BT A &:

A.

A ON -

B.
C.
D
Answer- A

77. ¢ cote+3/4 Y tan?0 =

5/9
16/9
3/7
9/16

oo w»

Answer- B
78.tan 45° HTHAM & :

A.

W N -~O0

B.
C.
D
Answer- B
79. cosec? A-1 BT HIH %:
A. sin?A
B. tan?A
C. cot?A
D. cos?zA

Answer-C

Trigonometry Multiple Choice Questions and
Answers in Hindi



80. T 2sinA = V3 df A BT HMF IIT

30°
60°
50°
90°

Cow>

Answer- B

81. sin ( T/4) - cos( Tr/4) BT HH NI
A 2

B.

C. -1

D. 1

Answer- B
82. gfe A+B =90° Bl dl cos A SRTSR NII:

A. cosB
B. sinA
C. sinB
D. cosA
Answer-C

83. fe 360 =90° dY cos 6 TRTaR ENI:

1/2

\3/2
12
23

oo w>

Answer-B
84. 1+tan 0 BT A g2
A. sec?0
B. cos?6
C. tan26
D

cot? @
Answer- A
Class 10th Maths Chapter-8 Breutafa &1 uft=g Objective
85. 113 foraresT w9 B2

A. sin /3



B. 6cot /3
C. tanmi/6
D. cos 11/6

Answer-C

86. Tfe V3 cosec 8 = 2 B, Al 0 BT HIF BIIT :

60°
45°
30°
0°

oo w>

Answer- A
87. (1+tan? A)/cosec? A RTaR F-FIT % :

A. sec’A
B. cosec?A
C. cot?A
D. tan?A

Answer-D

88. Ufe V2 cos 8 = 1 §Y, A1 0 BT HIF BRI :

60°

45°
30°

0°

Cow>»

Answer-B
89. sin 2A= 2sin A d9 U BIdTI €, 9% A RIS &

A 0

B. 30°
C. 45°
D. 60°

Answer- A

trigonometry multiple choice questions and answers pdf class 10
90. (2tan 30°)/(1- tan? 30°)=

A. cot60°
B. sin60°
C. tan60°
D. sin30°



Answer-C

91. (1+ tan 6+sec 0) (1+cot 0 - cosec 0) IRTAX %:

0
1
2

oo Wy

-1
Answer-C
92.(sec A+tan A) (1-sin A) W%:

A. secA
B. sinA
C. cosecA
D. cosA

Answer-D
93. (1+tan? A)/(1+cot? A)=

A. sec’A
B. -1

C. cot?A
D. tan*A

Answer-D
94. cos*A - sin*A=

A. 2cos’A+1
B. 2cos?A-1
C. 2sin?A-1
D. 2sin2A+1

Answer- B

95 . fPaPT A FEA BT § 2

cos 30 °
cos 45 °
cos 60 °
cos 90 °

oo W

Answer-D
96. cos Tr/3 BT U I

A 112
B. 113



C. V32
D. V3

Answer- A
97. 1 + cot?6 T T BT :

sec?0
cosec?0
tan?0
cot?0

oo W

Answer-B

98. sin /3 BT HIH

A. 112
B. 3/2
C. 1
D. 0

Answer-B
99. (1+cot?A)/(1+tan?A) TRTR &:

A. sec’A
B. cosec’A
C. cot?A
D. tan?A

Answer-C

trigonometry multiple choice questions with
answers in Hindi

100. TfE sin 6=3/5 I, Y cos 6T A TII:

A. 4/5
B. 4/3
C. 5/6
D. 3/5

Answer- A

101. tan2 0 - sec? 6 BT A fHIP RER ¢ :
A, 1
B. 0



D. -1
Answer-D

102. 9 sec20 -9tan29?ﬂ'ﬁ?%

OO w>
o ®®©

Answer- B

103. 2 sin38°/cos52° BT H &:

oow>
B waN

Answer- A

104.9fE tan 6= V3 ST AN O BTHM B :

90°
45°
30°
60°

oCow>»

Answer-D
105. (cos 60°+1)/(cos 60°-1) BT A Faferfaa & &9 ghm?

-2
-3

oCow>»

3

2

Answer- B

106. tan60° T HIH BT

V3
13
23
1

cow>

Answer- A



107. A A A B cos 6 P RO 2 ?

A. (sin?0 -1)
B. V(1-sin%0)

C. (1+sin®0)
D. V(1- cos? 8)

Answer-B

108. tan 65°/cot 25° BT AT ¢ :
1

-1

0
1/2

Cow>»

Answer- A
109. cosec 45° FTHAM T :

2
12
\2
1/2

Cow>

Answer-C

Class 10 Maths Chapter-8 Trigonometry Objective in Hindi
110. TfE 15 cot A = 8 B, Tl sin A &T HH GHIT:

15/17
17/15
15/8
8/17

Cow>»

Answer- A
111.9fG cos A= B, @ 1-2cos? ABTHM T :

1/2
2/3
1/4
1/3

Sow>»

Answer- A
112. cosec (90-8) sin (90-8) fFH® TR 82

A1



B. 1

C. 0
D. 1/2
Answer- A

113. cos 1° . cos 2°. cos 3°......... cos 180°W%:

-1

1

0
1/2

Cow>

Answer-C
114. (sin 61°)/(sin29°) T HT- I :

cot 61°
tan 61°
0

tan 29°

Cow>»

Answer- B

115. sec 70° . sin 20° + cos 20° . cosec 70° W'FI'I:[@TIT :

A 0
B. 1
C. -1
D. 2
Answer-D

116. Tfe cos A+ cos? A =1l sin? A + sin* A =

-1
0
A1
. THIADE T
Answer-C

117. TS sind = cosH, df 6 fTF TP RTEX & ?

45°
30°
90°
60°

ooy

oCow>»

Answer- A



118. sin?0 + cos?0= ?

A 1
B. 2
C. 0
D. -1
Answer- A

119. cos (90°- A) =

cot A
sin A
tan A
sec A

Cow>

Answer- B

MCAQ Class 10 maths Chapter-8 in hindi

120. Tfe 5 cos0 = 3, a1 3 tan 6 BT HIF ERIT :

OO w>
N s oW

Answer-C
121. gf tan 6 = 3/4 B), Y sin 6 BTHAM &:

4/5
2/3
4/3
3/5

Cow>»

Answer-D
122. cos1° cos 2° cos 3°........ cos 90° =

0
1
-1
\2

oo W

Answer- A
123.9fg A, B, ¢ f<ft Bysl & HIv1 &Y, Y sin{(B+C)/2) TR & :

A. tan (A/2)



B. sin (A2)
C. cos (A2)
D. sec (A/2)

Answer-C
124. cot (90°- 8) TRTER §:

A. cosec©
B. tan©
C. secH
D. cos6

Answer- B
125. (sin18°)/(cos72°) T HIH gI:

1/2

1
\3/2
0

Cow>»

Answer- B
126. tan A SRTeR BT

cot (90° - A)
sec (90° - A)
cosec (90° - A)
cos (90° - A)

Cow>»

Answer- A
127. 9f¢ sin A=3/4 I cos A BT HTH I

A. 473

B. 3/4
C. ~4/3
D. 7/4

Answer-D

128. FH A fPaPTHM 0 P R 2 -

sin 90°
cos 90°
cos 0°

tan 90°

oCow>»

Answer- B



129. tan10° tan15° tan 75° tan80° = ?

\3
13
-1

1

oo W

Answer-D

MCQ Class 10 Maths Chapter-8 in hindi
130.%@3'&@@?005%9%@“%?

A. cosB/sin®
B. 1/secB
C. 1/sinB
D. sinB/cosb

Answer-C
131. Tfe 2sin® =1, A (3 cot? 6 + 3) HT HIF BN :

12
15
9
8

Cow>»

Answer- A

132. Tf¢ cosA =4/5 I tan A BT HTH ST

1/2
3/4
4/3
2

Cow>

Answer- B

133. Tfe sin 65°= a dUT cos 65°"= b I a2+b2 BT AT T TIT:

oow>
w N O

Answer-B



134. TfE 4sin20 =3 A 0 BTHMA &

30°
60°
90°
45°

oCow>»

Answer-B
135. P T S cot 0 F WTaR 82

sineB/cosb
cosB/sind
1/secB
1/sinB

Cow>

Answer- B
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